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Section 1 - Paperl-General English

Techofworld.In

1) Choose the correct answer:
When the venture failed, he found himself

A) wealthy

B) rich

C) bankrupt
D) prosperous

2) Choose the correct answer:
She enjoys a good joke. She likes laughing
others.

A) on
B) for
C) at
D) with

3) Choose the right option to fill the blank:
In the class, everyone a smartphone.

A) has

B) have

C) have had
D) will has

4) Choose the right option to fill the blank:
My is unwell.

A) nice

B) knees
C) niece
D) knee

5) Choose the right option to fill the blank:
My mother likes gardening embroidery

A) still

B) hence
C) therefore
D) and
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Section 2 - Paperl-Education and General Awareness

6) What are Tranquilizers?

) Drugs that act on cardiovascular system
) Drugs that act on digestive system

) Drugs that act on the central nervous system
D) Drugs that act on renal system

A
B
C

6) SITRINNR R4l 26T ?

A) 98 T°0IRe gEIRIER AIY @geIQl Bis
B) Q199 94IR16a @I @gaql B

C) 6a910 QIgoa6a QI 9gael G
D) ¢g ge16a @Idy ageial G

7) Which of the following is NOT the function of NCTE?

A) Take all necessary steps to prevent commercialisation
of teacher education

B) Undertake surveys and studies relating to various
aspects of teacher education

C) Promote and conduct scientific research in various
areas of technical education

D) Co-ordinate and monitor teacher education and its
development in the country

7) BARYS 1R 6066 1edFes QiKY g6E ?

A) d8 d9I8 QIGATRRIG 61RS AR AN IRIQ 6B
€5

B) dae d9I0 Sen 986918 AU6a A6T8E G 2RIAG QAR

C) 63ade dgia G0 68560 6THIAR SI6QTE @R 9G° 121G
6QIATE QR

D) 64969 d9e dl 99° Y2IQ FRHIQ ACAIFRI G 9210 @AS

8) Which of the following commissions was appointed in
1952-53 to examine the prevailing system of secondary
education in India?

A) Primary Education Commission
B) Subrahmanyam Commission

C) Mudaliar Commission

D) National Knowledge Commission

8) QIRGER YORe ARFR JAl MR Gl @Al IR 1952-53
6@ GORYE 600 FAA] G109 FAUAIRERI ?

A) gfie da efide
B) Q9eIélue] @FQR
C) QIR @fag
D) FI01a K18 @8aq

9) Who conducts the examinations for Indian Certificate of
Secondary Education (ICSE) and Indian School certificate
(ISC)?

A) Commission for Indian School Curriculum of
Examinations

B) Council for Indian School Certificate Examinations

C) Committee for Indian Social Curriculum of Examinations
D) Council for International Service Certificate
Examinations

9) Q@27 ATTERT AL 6ARVIR! YFERAR (AR IAR) 9e°
Rd21q Ym ATTERT (AIR9AT) JIRIgER A9 ARFIRRI K6Q ?

A) QTiQQ 09 28217 YR KA9R AT 1ERIFeaag

B) @laedn 0q 9d2Iq IR ATTERY IeeFieadq

C) @86 Tq wdalg 6aId2In FEgme 2T I9eIEieady

D) RI06dR I9 AEeIdeIR A0q AETER] IGSIF6RA

10) Which of the following options is an important feature of
the India's parliamentary democracy?

A) Monarchism

)

B) Patriarchism
C) Bicameralism
D) Unicameralism

10) QUG AAQA GH6R QMR FARYE TRF AR 676T 1@
2qg4d G689 26 ?

A) QFCRAL
B) dgQ@iei@
C) §aeale
D) 4RdeQIaQ
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11) What is the average normal temperature of a human
body?

A) 81.1 degree C
B) 37.0 degree C
C) 98.6 degree C
D) 21.7 degree C

11) 969 4Q10Q LIAULIR AR QTG 6R6S ?

A) 81.1&91C
B) 37.0891C
C) 986&91C
D) 21.7&g1C

12) The representatives of the States in the Rajya Sabha are
elected by:

A) The elected members of the Legislative Assembly
B) The President

C) The people

D) The elected members of the Legislative Council

12) QIRILNER QTR GEFIAIER AU G0 928

A) SedeIa FGe daUfiee FIal
B) QEUox Tl
C) 6RISAIRG 1ol

-

D) SuIe 899 G150 ANTINE IRl

13) NPTEL is an initiative by seven IITs and IISc for creating
course contents in engineering and science.What does
NPTEL stand for?

A) National Programme on Teaching Enriched Learning

B) National Programme on Training Employed Learning

C) National Programme on Technology Extended Learming
D) National Programme on Technology Enhanced
Learning

13) ¥RdGadR AI6GIS 2IRSIRE ¥e° 2IRRIRYAd AR raaaa?

6 GRINER AI0Y FRSY 990 FRAN | NedTadm Q gl AT
Q8 ?

A) NQQIR 601G 2R TE6r atien Ad°

B) Quidgin 69I9iF &1 685° 4AGNS Rd°

C) RUIARIR 6TIGIA 2R 6ERERIERIT YFETEER AF°
D) QUIQSIR 6997 2R 65RERIENIE NGAIGR ME°

14) What is the name given to the teaching learning process
in which the teacher and the taught are connected with the
help of a satellite and there are possibilities of interaction
through communication technology?

A) Flipped Learning

B) Video conferencing

C) Teleconferencing

D) Education through ICT

14) 6AFFVVR-GTE ARGQ @€ GLUAN 6JLYER TR WQ°
JRIeg QUgT ARIKER 6AFIAN e CAIGIKAIT 6GEQIERT
FRICIER JORQ PR QIRIRITR ARIRR| eI ?

A) 28aebe F5e 994 (Fa6g1R)
B) @68 aaeay”

C) 60RQeTeaq”

D) 2IQdd fluaea Sl
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Section 3 - Paperl-Reasoning

15) If JACK is coded as K1D11, then DEER will be coded as

A) C5F18
B) E5F18
C) E5F19
D) C6F18

15) 9@ JACK q K1D11 Q6% 6&IQ @28 99IKIeg, 6669 DEER @
@R 6918 98 QAT

A) C5F18
B) ESF18
C) E5F19
D) C6F18

16) If OUR is coded as 4, NEAR is coded as 5, then GEARS
will be coded as

6
5
10
7

903>

16) 9@ OUR @ 4 @169, NEAR § 5 @169 6@18 99 QI8 6669
GEARS @ @98 6212 93 99109

17) Present age of Kapil is 2 times his age 4 years back.
Kapil's age after 2 years will be

A) 10 years
B) 12 years
C) 8years
D) 6 years

17) 20e% QaFINQ 9Ad GIF 4 Gd 6RQ S9Aa 2 94 | 2 9F a6Q
RTeq 6760 9 QUC 621RRS

A) 10 g
B) 12 ad
C) 8ag
D) 6ed

18) What is the missing number in the given series?
87846, 7986, 726, ?, 6

A) 60
B) 66
C) 11
D) 12

18) J9& 97168 @ QI T @4l 266 ?
87846, 7986, 726, ?, 6

A) 60
B) 66
6y 14
D) 12

19) Karthik's father's only son's mother's husband's wife is
related to Karthik as

A) Sister

B) Grandmother
C) Aunt

D) Mother

19) QA QAT IR 19 A e FleNer Q1 FRAATA R8BS

A) Q6!
B) 68689l
C) g1
D) Al
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20) What is the next number in the given series?
26, 52,104, 208, ?

20) 99 916Q QI AP Qe A°HIT 94 629 ?
26, 52, 104, 208, ?
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Section 4 - Paperl-Teaching Aptitude

21) Who said that education was the manifestation of the
perfection already present in man?

A) Froebel

B) Maria

C) Vivekananda
D) Gandhi

21) @4 @@gem 60 991 6208 9doIR 20eYR QIZIR AGII0IER
QaYANE QEF ?

22) For a slow learner which one of the following strategies
is best for leamning?

A) Leamning according to a learner's pace will be excellent
B) Leamer can go for additional tution

C) A slow learner should work hard so that it results in
better learning

D) Prescriptive/ remedial teaching

22) @64 21911 dIEl1 QI FARES FUQ 620E AG6EE AR ?

A) dR1Elia aF g 994 € ag S 629

B) dmigl 21009 §Rdq AR AIAIGe?

C) 964 a1 dgiel1 @00 afge @881 adQ QIgl TRER 92! AR
496 Q8 @QaIRe

D) 2Ige-dia/ goriaqee S94

23) The major barrier in Mid Day Meal scheme is

A) Lack of publicity
B) Lack of funds
C)
D)

Lack of nutrition
lack of accountability

23) FlIg 6RUSRER IO 9GeRe 6298

A) goI0Q 2RI

B) Qida QI

C) 60I999Qa 2Rl
D) @eeldea aae

24) Sarva Shiksha Abhiyan (SSA), which is the main vehicle
for implementation of the RTE Act. Under the SSA offers

A) 30 days in-service training,20 days refresher course for
untrained teachers, 60 days orientation for freshly trained
recruits.

B) 60 days in-service training,30 days refresher course for
untrained teachers, 20 days orientation for freshly trained
recruits.

C) 90 days in-service training,30 days refresher course for
untrained teachers, 20 days orientation for freshly trained
recruits.

D) 20 days in-service training,60 days refresher course for
untrained teachers, 30 days orientation for freshly trained
recruits.

24) ARS8 2RAIR (SSA) 6208 2GR AR ANIFALR e
QIRIAT | QIT1 SSA 21)F6Q FIIF FRIAIREN

A) 9IRA6q g9l dag 30 GGl SRS, 2d0IRAYIY g R
aIR 20 G52 BeTAR AIOIGE, FATER CIRNG 66a FYS AR
Jeew WE 60 @52 63-969a]
B) 9masa &<l fieg 60 8521 omel, 26eIRAYIg ISe0 IR
Qe 30 §52 Gegaa AI0IgR, FRTea SIRE 600 B3 AIReS!
JRas RIS 20 852 6e969a]
C) o@a6a 29l d9ag 90 872l omel, 28eIRrdlg daenee
aia 30 352 GegaR AIOIGA, FRTER CIRF 60a FYS AIRES
deew RIG 20 @52 6R9694]
D) oRc6a gal daaq 20 @72l e, 299RagE dasqee
Jin 60 32l GeTAR AI0IFA, FATER SIRF 607 AR AIRYS
JOes MG 30 G52 6969A]
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25) Jawahar Navodaya Vidyalayas are schools specially
created for

A) slow leamers

B) gifted students

C) hearing impaired students
D) sportsmen

25) Q120 F6Q190 GIRG G698 Q6T 6RAAIRE IR AAIARE ?

A) A2a 9821

B) 9oRIQIa I98IQ1

C) Qe 81g8Ig1
)

D) 919159

26) When a student is facing problems in writing properly,
the situation is called

A) Dysphasia

)

B) Dyscalculia
C) Dyslexia
D) Dysgraphia

26) GRS O) Q6L 6nY AIQRES! 2Q1IQ Q@8 QRIAr ?

A) Gagidal
B) @eeimgmal
C) Gasngeal
D) GQgi&a

27) The question answer method of discussion and teaching
was propounded by

A) Socrates
B) Aristotle
C) Freud

D) Spencer

27) 94-aee 2I6RIPE1 8 SFIRe 9a6q @9 QI2IR @ti2eR ?

A) QA6g8q
B) 2IR6RISN
C) 69aQ
D) 697499

28) The Maths teacher observed that inspite of making
Radha practice again and again she would soon forget the
method of doing the sum. She was good at other subjects.
Soon the teacher realized that Radha suffered from

A) Dyslexia

B) Dyscalculia
C) Dyspepsia
D) Dysgraphia

28) 983 J9Q RYY M 60 QRIIP AR AN FARR A6Q 62
Fa16 988 91g gn K188 | 64 Gy FIAAIRTEA On FQE | QI
6QGCEI6a A1GE 291 d9ag 919 FIFaIfen ?

A) GG
B) Gamingme
C) &asaadal
D) @agcel

29) When a teacher scolds a student for a mistake that he
has committed, it may ba called as

A) positive reinforcement
B) good gesture

C) negative reinforcement
D) creativity

29) 60606967 BM IR FIEF F8Q GIF TBI8, 19Ig A QRIAN
?

A) AR RS
B) @&l 65a1
C) QIR 9ol
D) geqIaaa
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30) The slogan '‘Back to nature' was given by

A) Rousseau
B) Dewey
C) Freud

D) Froebel

30) 'gQeq 60N 640lIe @1 6906 ?

A) Q6al
B) ¢aa

C) 6gQQ
D) 6160
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Section 5 - Paperll-Odia Language

- ‘298 6RO’ 22 QPRI QLT FLC eal

A QI 8QQI
B) QRN
c) QAT RIY AU

D) JQI§ 6589

32) ‘QlI0Q° €W AL 4R ?

A o€
ece
calaQ
6QAQY

‘aecQ 62’ 9@ a8Sa a2 @’a?

33)

A)

B) RAIQY @€

c) U8 QGQ
aA%0Ie @8 QEQ|

34)

A 94
B) €
C) 9o
p) d8Q

6QIGY QAIQ QRRIR AL

‘A9Q 2199 98 ULIAER 1’ - CAUISE QIR AIIQ CRUE FHY @€ ?
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35) ‘@’ 6RU yFQ 29§97

) 2999
p) 89IQree
o) a@?q yR
D) 1R

36) A0Q 9] — 1 QALR 999 ‘Q’ @ 22 oAl IRS geua ?

) 200 PQC 226Q
g fRUa6Q

c) 9999 a26Q

p) 10 z2sa

37) cQe 99Qlal 621d QI 6291, 62289 QI 6218 AF 4, CRIQ 4 QeF ?

n 989
B) Qal

c) QIR
p) @aad

3g) ‘AUNE’AQQ FAQIORIEARIL AR 6QY|

A) aguedlr
B) eend

c) Qune
p) @02

39) ‘0§’ 6 ‘2QQI’ 40QAQ CINTR IR AL Q|

B) 691
c) oGl
p) O

«
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62100 Q4 a8Q68 ARY Q4 QUL CRER 6A0KR Q’A 6RIQAN ?
40)

41) ‘2RI BAIPR’ ALER ‘A" RAAT 6RW AACR AURRPS ?

A) agye
) Q88
) Qnue,
)

O @

D) S9Q1e

42) ‘97 AR €U QraR yFQ A998 ?

A) @24
B) B8Y
<) AERY
D) °Q¢

43) ‘QTAI’ 694 226R O8O A9 cRINAT ?
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45) WIE 99411 6001G0 099G cod aQ?

A) 29QIRI0Q F6HVE

B) FCHVAQ FEHVE
C) AREQICR F6AHVE

D) Q6D A
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Section 6 - Paperll-Mathematics

46) The compound ratio of 3:4 and 6:7 is

A) 18:11
B) 9:13
C) 18:25
D) 9:14

46) 3:4 3 67 @ 6dli@ AQUIR 6208

A) 18:11
B) 9:13
C) 18:25
D) 9:14

47) Which of the following quadrilaterals has always same
length of diagonals?

A) rhombus

B) square

C) parallelogram
D) kite

47) QRO 699 P9RFA AFER6R ATIR adead agelrg ?

A) 699

B) Qdleag

C) QIR 688
D) ¢&

48) The number of subsets of a set with 5 elements is

A) 5
B) 14
C) 16
D) 32

48) 5 QAIRIR 22l IQ AT 6RER2UT AN6AR 6LIRAIRR ?

A) 5
B) 14
C) 16
D) 32

49) If ax? + bx + ¢ = 0 has equal roots then the value of 'c' is

A) bZ4a
B) 4a/b?
C) b/(4a)
D) b/(2a)

49) 9G ax? + bx + ¢ = 0 Q Q¢ FJ QL8 696 'C' Q (MY 696E

50) The largest number which divides 615 and 963 leaving
remainder 6 in both cases is

A) 83
B) 91
Cya7
D) 86

50) 929 Q°¢l QI9l 615 ¥e° 963 q GRIFe @f Qe 6RgEa
RUGEHE 6 QES, V121 A8l 26T
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51) What is the value of (a+b)? ?

A) (a-b)?-4ab
B) a+b+ab
C) a?+ (2a+b)b
D) a?+ (a+b)b

51) (a+b)? @ )R 6763 ?

A) (a-b)?-4ab
B) a+b+ab
C) a?+ (2a+b)b
D) a2+ (a+b)b

52) The length of the tangent drawn from a point 8 cm away
from the centre of a circle of radius 6 cm to its point of contact
is

A) N7 cm
B) 2V7 cm
C) 5cm
D) 10cm

52) 6 cm QUIAIT §5F 99 §8A 6RKOIQ 8 cM 9R6R 9@ FEERS|
2GR FIUINE AIFIQ 6344 F¢ FROIQ 6960 689

A) V7 cm
B) 2¥7 cm
C) 5cm
D) 10 cm

53) Let A and B be two sets with cardinalities n(A) =12, n(A-
B) = 5 and n(AUB)=23, then the maximum number of
subsets of ANB is

A) 256
B) 128
C) 1024
D) 64

53) dQIKIA A 8 B 6298 gaF 699 Q12 FIERRE 6298 n(A)
=12, n(A-B) = 5 8 N(AUB)=23, 686 ANB @ A9k} A96AQ
A°HYI 6RRT

A) 256
B) 128
C) 1024
D) 64

54) If after offering a discount of 5%, the selling price of an
item is Rs. 200, then what is the marked price on the item?

A) Rs. 205
B) Rs.210.53
C) Rs.215.55
D) Rs. 210

54) Q@ 5% Q2IG QUIAIN, 6915 GRaQ G AmY 628 200 o,
6068 99 GFTQ 9FI0 9 6R6T ?

A) Rs. 205
B) Rs.21053
C) Rs. 21555
D) Rs. 210

55) If p, q are the roots of the equation x* + px+ q =0, then

com>
TTOT
o mwn

55) 9@ p, q 62083 X + px + g = 0 AR €IR, 6569

A) p=-2,9g=0
B) p=1,9=0
C)p=1,9g=-2

D) p=-2,g=1
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56) Two numbers are in the ratio 4:5, if 7 is added to each,
the sum are in the ratio 5:6. What are the numbers?

A) 24 and 35
B) 24 and 32
C) 28 and 35
D) 24 and 30

56) Q9@ QI 4:5 AQTI06R UT, 9T ENRTER 7 6019 @UAIRE,
QAR ANE 6208 5:6.6060 AR A&l 266 ?

A
B
C
D

24 9Q° 35
24 99° 32
2849° 35
24 499° 30

— e e

57) What is the largest number that divides 2053 and 967 by
leaving remainders 5 and 7 respectively?

=Rl
82RE

57) QaQ ¢l Il 2053 9e° 9679 FOIEE F6Q 9e° YaIGER 5
3 7 QIF6SY Q6% QIR @8 ?

58) In the parallelogram ABCD if angle ABC = 70 degree,
then what are the angle C and angle D?

A) 110° and 70°
B) 65° and 115°
C) 80° and 100°
D) 90° and 100°

58) ABCD QNeaa 68960 96 6@15 ABC = 70 @491, 606 6218
C 99° D 6@69 &g)1?

A) 110° 9e°70°
B) 65°4e°115°
C) 80°ge°100°
D) 90° «ge° 100°

59) The price of an article is Rs. 65. It was sold at a discount
of 15%, the selling price of the article is

A) Rs.56.6
B) Rs. 56

C) Rs. 556
D) Rs.55.25

59) 64licN GEAQ FJmY 65 Sl | 42 15% QeIF6ea 9F aausial,
6069 GGATA GG FRY 6a60 ?

A) Rs.56.6
B) Rs.56

C) Rs.556
D) Rs.55.25

60) 3v40 =

A) 675
B) 3v5
C) 6Y10
D) 320

60) 3V40 =

A) 675
B) 3V5
C) 6Y10
D) 3v20
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Section 7 - Paperll-Social Science

61) Which of the following is an imaginary line running on the
globe that divides it into two equal parts?

)
B)
C) Axis
D)

62) As per the Article 80 of the Indian Constitution, what can
be the maximum number of members of Rajya Sabha?

A) 252
B) 250

) 236
D) 243

62) QIGR1A AAMIGR el 80 AQAEH QURILARIQ ‘EJ@I&JL@ =inet)
QY4 6R6Q 6LIRER ?

A) 252
B) 250
C) 236
D) 243

63) The southernmost point in Indian territory, the Indira
Point located in the Nicobar islands lies in the latitude of:

63) AREIE REILR QVEGT 694, F6RIAQ QY8R "Rl 98"
6RES G9! 2YIE6R LSS ?

A) 37°6'N
B) 6°45'N
C) 8°45'N
D) 37°9'N

64) Which of the following terms in the Preamble of Indian
Constitution promote the spirit of brotherhood among
people, assures the dignity of the individual and the unity and
integrity of the nation?

A) Justice
) Liberty
C) Equality
D) Fratemity

64) QIEG1A ARG JALRIER 676 4R FRARIQER F2I6R YIGR
Q19 6gI2IEG @6Q, ¥a° FIFSQ ARIF 98 F18/608a Fayel G2l

@26 356 @6a ?
A) QuIR
B) QRIRGI

C) QARG
D) @igQ

65) Where did the Old Stone Age people live in?

A) Forts
B) Caves
C) Mud house
D) lIgloos

65) 9RIeR 92 YA CRIRFIEH 6920160 I FRZER ?

A) 94 aqe
B) gl
C) aiF aa
D) @9,
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66) Who among the following was the first President of the
All-India Trade Union Congress in 19207

A) Sardar Vallabhai Patel
B) Lala Hardayal

C) Lala Lajpat Rai

D) Jawaharlal Nehru

66) Geqa FQ @4 1920 AT2I6R 2R NNRIL A9Q AR
AVITS gem ?

A) Q90 SRS AR A6SR
B) QIR 2eeaR

C) AR NIFAQ QIS

D) SQIZQRIR 69629

67) The Fifth Schedule of the Indian Constitution contains
provisions related to which of the following areas?

A) Administration and Control of Scheduled Areas and
Scheduled Tribes

B) Validation of certain Acts and Regulations

C) Administration of Tribal Areas in the States of Assam,
Meghalaya, Tripura and Mizoram

D) Allocation of seats in the Council of States

67) Q19910 ARG A°99 2QYPT6R FIRYS 696 FTNER AERT
QEgE ?

A) 29900 685 8 AGYEE AReIOR gaIAe 8 Faad

B) &8 §aial 8 2Rarg ARYIIe /a9

C) a9, 679IR9, Yl G FI6TIRIN QIFYER 8Q 2ITRIA1 2°0Ra
IR

D) QY 9G806Q 2I9e 2IQQs

68) Which of the following is the study of the atmosphere and
its phenomena?

A) Geomorphology
B) Palaeontology
C) Geology

D) Meteorology

68) QIGFILR B (ARG AUNTF Q€ GRIAIN ?

A) S6A6TFIERIET
B) Ql6mieslena
C) @8snE

D) 6elI6gIeMIF

69) What percentage of water on earth is saline in nature?

A) 97%
B) 50%
C) 75%
D) 3%

69) 99GEa IR 666 JGEIe QT 96 RGP ZET ?

A) 97%
B) 50%
C) 75%
D) 3%

70) Under which Constitutional Amendment, 'Right to
Property' was removed from the list of Fundamental Rights
of India?

A) 30th Constitutional Amendment
B) 52nd Constitutional Amendment
C) 44th Constitutional Amendment
D) 49th Constitutional Amendment

70) 69Q QRIS LIRS TR "ARFQ 2RI Q , 61 2R
QRIIQ QAQ TSR ?

A) 30 of AfdIFe QedRIG
B) 52 of AIfIGR °68RIG
C) 44 ¢Q AFMIGR LeaRID
D) 49 o7 QANRR L°6HRIS



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

71) The atmosphere of the Earth can be divided into different
layers based on its

A) longitude

B) latitude

C) temperature
D) magnetic field

71) Q12 ZRIVEQ FYRIR QICINNEIG FER L06Q Fes
QAULIDARS ?

A) QIEel

B) aars

C) sIagIg!

D) gu@1% 699

72) In vedic age, the marriage between woman from a higher
varna with a man from a lower varna was called:

A) Varnaloma
B) Anuloma

C) Krantiloma
D) Pratiloma

72) 6309 go6Q, 20e4a 968 80! 8 G% a4 F68 JRIF IR
QLG FLIAIRIR:

A) adeaiel
B) 2gsaiel
C) qlasmiel
D) g@smiel

73) What is the chemical composition of the outer core of the
earth?

A) Iron and Nickel

B) Iron and Aluminium
C) Silca and Aluminium
D) Silca and Magnesium

73) 92910 "QIQY - 691" A2AL "AYY - 6RYIHR"6Q 679 AANER
dge e ?

A) 6R12 98° Geam

B) emla ae° 2Ipfiden
C) daal 9 apdtaa
D) dqial9e° ueadeas

74) Which of the following options refer to the process of
introducing trees and tree seedlings to an area that has
previously not been forested?

A) Deforestation
B) Social forestry
C) Agroforestry
D) Afforestation

74) 69159 2ORER 60R016Q 2IoQ @R1AAE! 62IRRIE 6A016Q T8
3 Q19 AR ‘QQQ\Q @€ QUL ?

A) Qqd

B) AKIGD QR1R0E
C) Q8 eRlRed

D) 9Q1Q4

75) Mohandas Karamchand Gandhilaunched the 'Quit India'
movement at the All-India Congress Committee session held
in:

A) Delhi
B) Madras
C) Bombay
D) Ahmedabad

75) 661126 Q19 QQF IR TN ARG BIP KRGS ATRUAGIE
2°6gq RAG 26997 29T 6TRYRI FINER AN KRZ6R , 99°
QI Al ?

A) G

B) q1gIq

C) @69

D) 22aQIQIQ
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Section 8 - Paperll-Science

76) Which of the following diagnostic characters is found in
the Androecium of Hibiscus rosa-sinensis?

A) Monadelphous
B) Syncarpous
C) Pentacarpellary
D) Pentalocular

76) FIRIQ IAQ I6RHR60 F67)IB FIQ 674! 67RIRE J669Q 0&F
?

A) 6RIRI6GRTY
B) deeidq

C) saeRicdmid
D) 604I6RIGAIR

77) The component of the contact force parallel to the
surface of contact is called as

A) Normal reaction
B) Frictional force
C) Viscous force
D) Buoyant force

77) A°96 990 699 AT A°A oF ATC AABAR ALAIER 2N |
Q21 QRIAN :

A) ARG gagel
B) aggem

C) Qg aF

D) @IQ7Ie 9F

78) Which of the following types of sclereids are star
shaped?

A) Macrosclereids
B) Osteosclereids
C) Astrosclereids

D) Brachysclereids

Join Us-

78) G69I9 AIQ 699 IR 9F 6RMERI GIAR! 21QFA 268 ?

A) Q6K6L6ENAG
B) 236 6A6RAQ
C) 2IERIEAEMEG
D) QI@6smag

79) Which of the following is used in hospitals for setting
fractured bones?

A) Calcium oxide

B) Calcium sulphate hemihydrate
C) Calcium oxychloride

D) Sodium hydrogen carbonate

79) F6EI8 QR 69AE 2RTINER GF 29 6AFIQ MeLe
6212l ?

A) QIR 290G

B) QuIndze a6qs 625 210689
C) MIndar 2F 6R9Q

D) 6QE2¢ 262160 AEISRT

80) What is covalent bond?

A) itis the inter-atomic linkage resulting from no sharing of
electron pair between the atoms

B) it is the intra-atomic linkage resulting from electron pair

sharing between the two atoms

C) itis the intra-atomic linkage resulting from no sharing of
electron pair between the atoms

D) it is the inter-atomic linkage resulting from electron pair

sharing between the two atoms
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80) 6QIQIENE Q@4 /A2 Q6T GR Q'§ 26T 7

A) 999114 GEF AIER FEMERIR JOFR I A2RITER 62028
28dI0018ee A6AIS NG

B) 9@ Qa¢lig FER AEMERIR JURQ ALRITER 6292S!
2IFAIOFIGITR Q61D -

C) 989l 9aa FRIER REMER, IR JIFA G5 ALNITER 629LQ!
2T A6 RS

D) 92 Jaflig FRIER FEMER,R YIFR ALRITER 6292
28dI0nIaa A6 -

81) Which of the following process is used for the production
washing soda?

A) Haber Process

B) Raschig process
C) Dow process

D) Solvay process

81) G618 6@ 9RAI Rl &2l QG FFIFER LGS §9 2

A) Q0699 gael
B) qude 9@l
C) @16 gawl

D) 6Qisp 9ae!

82) A car with mass of 175 kg is moving on horizontal road
with 30 m/s velocity. If the car is accelerated by 5 m/s?, then
kinetic energy of car after 12 sec will be.

A) 875000 J
B) 578070 J
C) 708750 J
D) 897570 J

82) 175 &9 Bee Gd8 6915 @Q 30 m/s JRERTER U@
QAFIBG QULIER AGE | IG 6 5 m/s? FIal Q0 6LIRE,
6E6Q 12 696@E J6Q RIRR G5 48 6960 689 ?

A) 875000 J
B) 578070 J
C) 708750 J
D) 897570 J

WtsApp/Call- 8596976190

83) Which of the following microbes is used for making
bread?

A) Acetobacter cerevisiae

B) Saccharomyces cerevisiae
C) Acetobacter aceti

D) Arthrobacter globiformis

83) Q& GalIG @FQ! Ciel 609 FIRERIY . SISLIR GNP

A) 26T/ 6ARMI2I
B) AIR6IIR6AQ 69 @delg
C) 2I6Q6TNFNERR LUICAT
D) 268916} 6QUTTFQ

84) Rhizobia bacteria in Plants helps in

A) transpiration

B) photosynthesis
C) protection

D) nitrogen fixation

84) QEQER 29I AIRCHITA Q1RIE 6RNY6Q AR G6Q

A) Q69aR

B) 26nIa 654
C) gaal

D) 9eQIQ9Ie Qa9

85) The angle between the force and the displacement in
terms of negative work done is

A) 90°
B) 180°
C) 50°
D) 0°

85) S99IAR RIdY AAFER , AR I° FRAITL AL 6RN9G Fe3

A) 90°
B) 180°
C) 50°
D) 0°
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86) In the chloroplast, thylakoids sacs are arranged in stacks
known as

A) outer membrane
B) grana

C) cisterna

D) stroma

86) 69I6QUYITER, 2IMERG QYT IR Y160 ATIR 621N QFAIS
QI P& QRIAN

A) QIzy B
B) i

C) @ Q6edll
D) sqll

87) The weak forces of attraction in nonpolar substances are
known as

A) Covalent bond
B) Dipole-dipole forces
C) London forces
D) Dipole-induced dipole forces

87) 26ya AQIE6Q ARFER QR IRT 96 AT

A) 92 Q6L

B) GIR6UM-CIR6TIN-9%

C) AER R

D) QI6din- 6060 SIR6In O

88) Which of the following structures are ABSENT in a
prokaryotic cell?

) DNA

) Ribosomes

C) Plasma membrane
D) Mitochondria

88) F6IB F1IQ 694 A°AVFIT 6gINIRBER 647 6Q & 2N ?

A) G999

B) QIQ6Ql6qIq]
C) qIsal Eq1
D) AIpes el

89) There is a certain relationship between two given words
on one side of - and one word is given on another side of ::
while another word is to be found from the given alternatives,
having the same relation with this word as the words of the
given pair bear. Choose the CORRECT alternative.

Cholera: Bacteria :: Smallpox: ?

A) fungi
B) virus
C) algae
D) bacteria

89) @ @ JI56a , J9R QAF IQ AIER IR TR ae A@R, 19°
1R AN AHER 9@ 49 FAULIRE ; 66066 & TUARR!
3099 294 4RTQ 641IF QLR 6REQI] 629 , 6IRLEA @ 63T 98
ARy SRE 2 , 6KIF6A GUIKINYQ! §9 YIRQ AR UB 650 2Sl
dedym | A0] T QI8 -

LW PG 1 LS 6L ?

A) |9

B) @olq,
C) i@
D) @1QK

90) X-ray of wavelength 2.38 Angstrom strike a crystal and
observed to be deflected by an angle of 30°. Assuming that
n=1.17 calculate the spacing between the plane of atom in
that crystal, that are responsible for this reflection.

90) 2.38 2IEr FaFETRIR 1F-62 1@ ITRY IS 6l 9a°
30° 6216 F6ATE 62PN A FAUARE | 7165 @A N=1.17, 666Q
693 A0RER LR AP ISR VFG BAIQ AR IR 9T goTee
AR QAT |

A) 476 A
B) 234 A
C) 2.38 A
D) 278 A
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